spare parts list
Starvac M55 230V EU

Uzin Utz Tools GmbH & Co. KG | Ungerhalde 1 | D-74360 lIsfeld
Telephone: +49 (0)7062 91556-0 | Telefax: +49 (0)7062 91556-44 | www.wolff-tools.com



Table of contents

1 Starvac M55 230V EU (05/2010 bis 12/2018) 3
1 Starvac M55 Hood 4
2 Starvac M55 Turbine 6
3 Starvac M55 Filter vibrator 8
4 Starvac M55 Container 10
5 Starvac M55 Qutlet hose 12
6 Starvac M55 Accessories 14
1 Starvac M55 230V EU (01 / 2019 bis heute) 16
1 Starvac M55 Hood 17
2 Starvac M55 Turbine 1 19
3 Starvac M55 Turbine 2 21
4 Housing Suction turbine 23
5 Starvac M55 Filter vibrator 25
6 Starvac M55 Valve 27
7 Starvac M55 Container 29
8 Starvac M55 Outlet hose 31
9 Starvac M55 Accessories 33
10 ABS Hose coupling 35
1 Floor Noozel Alu 37

Page 2/ 38 01.04.2024



1 Starvac M55 230V EU (05/2010 bis 12/2018)

Item no. Article no.

o U A W N R

Page 3/ 38

01_01 060800
01_02_060800
01_03_060800
01_04_ 060800
01_05_060800
01_06_060800

Description

Starvac M55 Hood

Starvac M55 Turbine
Starvac M55 Filter vibrator
Starvac M55 Container
Starvac M55 Outlet hose

Starvac M55 Accessories

01.04.2024



1 Starvac M55 Hood

01.04.2024

Page 4/ 38



1 Starvac M55 Hood

Item no. Article no.

2

w
o

© © VW ©® N O U A~ W

N N N N N B H R B R B B R B R
A W N B O W 0 N O 1 A W N H O

Page 5/ 38

060920
060952
070566
064166
070568
069799
060955
065773
072764
062053
062052
073418

077224
064881
064350
060925
067390
061016
169413
077006
169414
085485
165146

Description

Handle cpl. Starvac+PallmannDust
Screw 5x30 Starvac/Dust

Hood complet Starvac M55

Switch on/off calipers Starvac / Dust
Spring push button Starvac

Push button f. LED Starvac / Dust
Screw 4x16 Starvac+PallmannDust
Micro switch Starvac M55
Installation socket Europa Starvac
Installation socket CH Starvac
Installation socket UK Starvac

Knob Starvac+Dust

Instrument Panel Starvac M55
Signal lamp green Starvac

Switch with LED Starvac/Dust
Electrical push button On/Off Starvac
Closing flap Starvac/Dust

Cord 3G1,5x10m green with plug
Cover holding device Starvac M55
Screw Starvac 3x12 10.9

Circuit board Starvac

Label cutting Starvac

Circuit board hose selector switch
Hose @ 3 x 1.35 Starvac M55
Moulded part Blow-out ribs M55
Washer

Quantity

N e T e e B T e NS B e e e e N S e R e R S T = = B SR O, =

01.04.2024



2 Starvac M55 Turbine




2 Starvac M55 Turbine

Item no. Article no.

© 00 N o u b~ W N -

[ T S e T = T o B o =
A © 00 N o U A W N B O

Page 7/ 38

084471
067335
066488
067331
067334

081836
082634

072974

060952
060949

088627

Description

Turbine housing Starvac M55

Seal above suction turbine 230V Starvac
suction turbine 230V Starvac up to 4/19
Set carbon brushes Starvac/Dust

Seal below suction turbine 230V Starvac
Cable Turbine Starvac M55

Seal rubber turbine Starvac/Dust
Housing complete Starvac

Sensor

Turbine circuit board 230V Starvac 4/19
Gripper clamb

Bolt

Cable for Sensor light blue

Spring electrically conductive

Screw 5x30 Starvac/Dust

Flat-filter Starvac/Dust

Mounting

Bolt

Acoustic filter warning

Ferrit ring M30 / M55

Quantity

P P N B B N R N R B B N RFP RPN RPB R R P B

01.04.2024



3 Starvac M55 Filter vibrator

Page 8 /38 01.04.2024



3 Starvac M55 Filter vibrator

Item no. Article no.

© 00 N o u b~ W N -

[ =
U W N R O

Page 9/ 38

080760
074336
077108
077109
073270
081978
065849
082144
069534
088623
060975
088625
060953
088627

Description

Holding device Magnet Starvac M|55
Magnet 230V Starvac

0O-Ring 115,0x1,78-NBR 70 Starvac
Replacement Set valve cpl. Starvac
Sealing Supply air Starvac

Holder spring Starvac M55

Cover filter cover Starvac/Dust
Cover Filter Starvac M55

Screw 5x80 Starvac/Dust

Cable for magnet 230V Starvac M55
Screw M 4x 8-A2 Starvac/Dust
Serrated lock washer A4 Starvac M55
Screw 4x12 Starvac/Dust

Ferrit ring M30 / M55

Quantity

N O B e R e O N e e e S N N

01.04.2024



4 Starvac M55 Container

Page 10/ 38 01.04.2024



4 Starvac M55 Container

Item no. Article no.

2
3
4
5
6
7
8
9

10
11
12
13
14
15
16
17
18
19
20
21
22
23
24
25
26
27
28
29
30
31
32
33
34
35

Page 11/ 38

064165
060924
089219
060930
060942
060941
060943
081672
081673

065084

060952
080466

067888

067889
060954

064810
069225
081266
077225
060928
060957
060975
060921
060956
060953

073358

Description

Container Starvac M55

Holding device floor nozzle Starvac
Axle container Starvac M55

Safety washer Starvac+PallmannDust
Wheel cap Starvac/Dust

Wheel @180 Starvac+Pallmann Dust
Steering wheel with brake @75 Starvac
Suction connection Starvac

Bolt electrically conductive M55 M30
Spacer

Steering roll bar Starvac M55

Shackle

Screw 5x30 Starvac/Dust

Nut Cover Starvac M55

Bolt

Screw M8x40 Starvac M55

Cap nut

Sealing ring 12x2 Starvac

Screw 5x20 Starvac M55

Washer

Holding device, left

Holding device, right

Holder Accessories Basic body Starvac
Holder Accessories to plug Starvac M55
Hexagon nut M10 Starvac M55
Bushing M8 Starvac

Hose coupling Starvac/Dust

Washer 4-A2 M4 Starvac/Dust

Screw M 4x 8-A2 Starvac/Dust
Perforated tape Starvac/Dust

Cap nut M4 Starvac/Dust

Screw 4x12 Starvac/Dust

Label M

Screw 5x25 Starvac

Quantity

P R R B B B R R NN B PR PR P N R N NNNDNDNRARPBS NP R PR NNNR R R

01.04.2024



5 Starvac M55 Outlet hose




5 Starvac M55 Outlet hose

Item no. Article no. Description Quantity

1 080157 Drain hose Starvac M55 1

2 087561 Sealing ring drain hose Starvac M55 1

3 087562 Hexagon nut Drain hose Starvac 1
Page 13/ 38

01.04.2024



6 Starvac M55 Accessories

Page 14/ 38 01.04.2024



6 Starvac M55 Accessories

Item no. Article no.

© O 00 N o u A W N B

[ e = = N =
u A W N B B O O

Page 15/ 38

060919
060929
060922
073704
060951
060926
060923
060950
062162
060947
060946
066745
060945
062165
083245
082154
060944
060948

Description

Repair set Starvac/Pallmann Dust

Sealing ring hose Starvac+Pallmann Dust
Clambing ring Starvac+Pallmann Dust
Hose connections Starvac

Suction hose Starvac+Pallmann Dust kpl.
Sleeve C35EL Starvac+PallmannDust
Elbow Starvac+PallmannDust

Joint nozzle DN35 Starvac

Alu floor nozzle Starvac/Dust 370mm
Plastic floor nozzle Starvac/Dust 230mm
Brush set for floor nozzle Starvac 230mm
Brush set for floor nozzle Starvac 370mm
Rubber lips set floor nozzle Starvac 230
Rubber lips set floor nozzle Starvac 370
Wheel for floor nozzle Alu 370mm
Castor+axle for floor nozzle 230mm
Suction pipe DN35 Starvac SEE 16340
Paper filter Starvac M55 / 5pcs/PU

Quantity

P N N N B R R R R R R R R R B B B &

01.04.2024



1 Starvac M55 230V EU (01 / 2019 bis heute)

Item no. Article no.

02_11_060800
02_01_060800
02_02_060800
02_03_060800
02_04_060800
02_05_060800
02_06_060800
02_07_060800
01_05_060800

© 00 N o uu b~ W N =

02_09 060800
02_10_060800

=
o

Page 16/ 38

Description

Floor Noozel Alu

Starvac M55 Hood
Starvac M55 Turbine 1
Starvac M55 Turbine 2
Housing Suction turbine
Starvac M55 Filter vibrator
Starvac M55 Valve
Starvac M55 Container
Starvac M55 Qutlet hose
Starvac M55 Accessories

ABS Hose coupling

01.04.2024



1 Starvac M55 Hood

01.04.2024

Page 17/ 38



1 Starvac M55 Hood

Item no. Article no.

2

w
o

© © VW ©® N O U A~ W

N N N N N B H R B R B B R B R
A W N B O W 0 N O 1 A W N H O

Page 18/ 38

060920
060952
070566
064166
070568
069799
060955
065773
072764
062053
062052
073418

077224
064881
064350
060925
067390

169413
077006
169414

Description

Handle cpl. Starvac+PallmannDust
Screw 5x30 Starvac/Dust

Hood complet Starvac M55

Switch on/off calipers Starvac / Dust
Spring push button Starvac

Push button f. LED Starvac / Dust
Screw 4x16 Starvac+PallmannDust
Micro switch Starvac M55
Installation socket Europa Starvac
Installation socket CH Starvac
Installation socket UK Starvac

Knob Starvac+Dust

Instrument Panel Starvac M55
Signal lamp green Starvac

Switch with LED Starvac/Dust
Electrical push button On/Off Starvac
Closing flap Starvac/Dust

Cord 3G1,5x10m green with plug
Cover for holder Accessories

Screw Starvac 3x12 10.9

Circuit board Starvac

Label cutting Starvac

Circuit board hose selector switch
Hose @2 1,35x410mm

Moulded part Blow-out ribs

Washer

Quantity

N e T e e B T e NS B e e e e N S e R e R S T = = B SR O, =

01.04.2024



2 Starvac M55 Turbine 1




2 Starvac M55 Turbine 1

Item no. Article no.

© 00 N o u b~ W N -

[ T S e T = T o B o =
A © 00 N o U A W N B O

Page 20/ 38

084471
067335
066488
067331
067334

081836
082634

072974

060952
060949

088627

Description

Turbine housing Starvac M55

Seal above suction turbine 230V Starvac
suction turbine 230V Starvac up to 4/19
Set carbon brushes Starvac/Dust

Seal below suction turbine 230V Starvac
Cable for turbine

Seal rubber turbine Starvac/Dust
Housing complete Starvac

Sensor

Turbine circuit board 230V Starvac 4/19
Gripper clamb

Bolt

Cable for Sensor light blue

Spring electrically conductive

Screw 5x30 Starvac/Dust

Flat-filter Starvac/Dust

Mounting

Bolt

Acoustic filter warning

Ferrit ring M30 / M55

Quantity

P P N B B N R N R B B N RFP RPN RPB R R P B

01.04.2024



3 Starvac M55 Turbine 2

01.04.2024

Page 21/ 38



3 Starvac M55 Turbine 2

Item no. Article no.

© 00 N o W N -

Page 22/ 38

012231

081836

012232

060952

088627

Description

Housing Suction turbine Upper part

Set Gasket Replacement

Suction turbine 230V Starvac from 5/2019
Cable for turbine

Seal rubber turbine Starvac/Dust
Housing Suction turbine lower part
Sensor

Turbine circuit board 230V Starvac 5/19
Gripper clamb

Bolt

Cable for Sensor light blue

Spring electrically conductive

Screw 5x30 Starvac/Dust

Flat filters

Mounting

Bolt

Acoustic filter warning

Ferrit ring M30 / M55

Quantity

P P N B B N R N R B R P R P B B B P

01.04.2024



4 Housing Suction turbine

j/‘;FT\‘*\_
/
/® “ \J\H | r .
206 | i [l >
T Sl
206/® 206 R
91

Page 23/ 38 01.04.2024



4 Housing Suction turbine

Item no. Description Quantity

90 Insulating mat Housing Suction turbine 1 1
91 Insulating mat Housing Suction turbine 2 1
206 Lock washer 3

Page 24 / 38 01.04.2024



5 Starvac M55 Filter vibrator

Page 25/ 38 01.04.2024



5 Starvac M55 Filter vibrator

Item no. Article no.

© 00 N o u b~ W N -

[ =
U W N R O

Page 26/ 38

074336
077108
077109
073270
081978

069534
088623
088624
088625
088626
088627

Description

Holder Magnet 2019

Magnet 230V Starvac

0O-Ring 115,0x1,78-NBR 70 Starvac
Replacement Set valve cpl. Starvac
Sealing Supply air Starvac

Holder spring Starvac M55

Cover for Filter cover 2019

Filter cover 2019

Screw 5x80 Starvac/Dust

Cable for magnet 230V Starvac M55
Screw M4x8 Starvac M55

Serrated lock washer A4 Starvac M55
Screw M4x12 Starvac M55

Ferrit ring M30 / M55

Quantity

N O B e R e O N e e e S N N

01.04.2024



6 Starvac M55 Valve

Page 27/ 38 01.04.2024



6 Starvac M55 Valve

Item no. Description Quantity

47 Spring soft 1
75 Valve disc 1
215 Oval-head screw with hexagon socket head 1

Page 28/ 38 01.04.2024



7 Starvac M55 Container

Page 29/ 38 01.04.2024



7 Starvac M55 Container

Item no. Article no.

2
3
4
5
6
7
8
9

10
11
12
13
14
15
16
17
18
19
20
21
22
23
24
25
26
27
28
29
30
31
32
33
34
35

Page 30/ 38

064165
060924
089219
060930
060942
060941
060943
081672
081673

065084

060952
080466

067888

067889
060954

064810
069225
081266
077225
060928
060957
060975
060921
060956
060953

073358

Description

Container Starvac M55

Holding device floor nozzle Starvac
Axle container Starvac M55

Safety washer Starvac+PallmannDust
Wheel cap Starvac/Dust

Wheel @180 Starvac+Pallmann Dust
Steering wheel with brake @75 Starvac
Suction connection Starvac

Bolt electrically conductive M55 M30
Distance bush

Steering roll bar Starvac M55

Rear push bar

Screw 5x30 Starvac/Dust

Nut Cover Starvac M55

Screw

Screw M8x40 Starvac M55

Cap nut

Sealing ring 12x2 Starvac

Screw 5x20 Starvac M55

Washer

Holder left

Holder right

Holder Accessories Basic body Starvac
Holder Accessories to plug Starvac M55
Hexagon nut M10 Starvac M55
Bushing M8 Starvac

Hose coupling Starvac/Dust

Washer 4-A2 M4 Starvac/Dust

Screw M 4x 8-A2 Starvac/Dust
Perforated tape Starvac/Dust

Cap nut M4 Starvac/Dust

Screw 4x12 Starvac/Dust

Filter identification M

Screw 5x25 Starvac

Quantity

P R R B B B R R NN B PR PR P N R N NNNDNDNRARPBS NP R PR NNNR R R

01.04.2024



8 Starvac M55 Outlet hose




8 Starvac M55 Outlet hose

Item no. Article no. Description Quantity

1 080157 Drain hose Starvac M55 1

2 087561 Sealing ring drain hose Starvac M55 1

3 087562 Hexagon nut Drain hose Starvac 1
Page 32/ 38

01.04.2024



9 Starvac M55 Accessories

Page 33/ 38 01.04.2024



9 Starvac M55 Accessories

Item no. Article no.

© O 00 N o u A W N B

o e T T N = By
N o o A N RPR R O O

Page 34/ 38

060919
060929
060922
073704
060951
060926
060923
060950
060947
062162
060946
066745
060945
062165
082154
060944
060948
063936
062562

Description

Repair set Starvac/Pallmann Dust

Sealing ring hose Starvac+Pallmann Dust
Clambing ring Starvac+Pallmann Dust
Hose connections Starvac

Suction hose Starvac+Pallmann Dust kpl.
Sleeve C35EL Starvac+PallmannDust
Elbow Starvac+PallmannDust

Joint nozzle DN35 Starvac

Plastic floor nozzle Starvac/Dust 230mm
Alu floor nozzle Starvac/Dust 370mm
Brush set for floor nozzle Starvac 230mm
Brush set for floor nozzle Starvac 370mm
Rubber lips set floor nozzle Starvac 230
Rubber lips set floor nozzle Starvac 370
Castor+axle for floor nozzle 230mm
Suction pipe DN35 Starvac SEE 16340
Paper filter Starvac M55 / 5pcs/PU
Extension hose 4m Starvac/Dust

Membrane filter Starvac+Pallmann Dust

Quantity

I e S R T e e e e e R e e e R e R e O S =

01.04.2024



10 ABS Hose coupling

)

o8

Page 35/ 38 01.04.2024



10 ABS Hose coupling

Item no. Article no.

1

2
3
4

Page 36/ 38

060922

064101
064102

Description

Clambing ring Starvac+Pallmann Dust
Thread ring

Clamping sleeve Starvac/Dust

Thread-ring Starvac/Dust

Quantity

N e e

01.04.2024



1 Floor Noozel Alu

Page 37 /38 01.04.2024



1 Floor Noozel Alu

Item no. Article no.

1

2
3
4

Page 38/ 38

062162
083245
062165
066745

Description

Alu floor nozzle Starvac/Dust 370mm
Wheel for floor nozzle Alu 370mm
Rubber lips set floor nozzle Starvac 370

Brush set for floor nozzle Starvac 370mm

Quantity

N L

01.04.2024


http://www.tcpdf.org

	Table of contents
	1 Starvac M55 230V EU (05/2010 bis 12/2018)
	1 Starvac M55 Hood
	2 Starvac M55 Turbine
	3 Starvac M55 Filter vibrator
	4 Starvac M55 Container
	5 Starvac M55 Outlet hose
	6 Starvac M55 Accessories

	1 Starvac M55 230V EU (01 / 2019 bis heute)
	1 Starvac M55 Hood
	2 Starvac M55 Turbine 1
	3 Starvac M55 Turbine 2
	4 Housing Suction turbine
	5 Starvac M55 Filter vibrator
	6 Starvac M55 Valve
	7 Starvac M55 Container
	8 Starvac M55 Outlet hose
	9 Starvac M55 Accessories
	10 ABS Hose coupling
	1 Floor Noozel Alu


